LD MphE/

®
e L

FrEtlga
%ﬁfﬁmrn 21MPa {210kgf/crf}

PImpEHE

BW: ATV T 4R

2W: /=T L 9

2ZWD:/ —ZXFY L TFF 2 b
2SI RTFYLTA Ty b

HD3"3

SHE
L. REHECHAEY L - Sty 92 7L UE) B¢ X
T4,

2. KoL /4 FOBA, HRE0TYTAVYL I A Ffro Al o
L /A4 FaEEELTOHEEL A,
3. ACJZ, DCHEE b IBEFRR T ¥ 7o own T g,

4, F—TF T —iF, BEEEMBCTT,
oY B0 v & 4
JIS B2401-1AP9 4 14

JIS B2401-1AP3 211 (2 WIO &A1)
HARF AL —L S25 21H
&) — RTINSV TORNITIE, R T —
[ B GRAR- AN
o BT, 29 7T & (S22 )1l by T ¢ 7e s
-Ra“~ N % Gk L’CUJFHTZ: AN {’r@M\Hi’bp LEdTocIi
o FF L MfzB T, VL /4K
{20kgf/em®} LTIz LC L 7280
o AL, ISO VG32F 7213, VG56(140 % — ¥ > i) #H 24

WA 7 B & S LR

B G,
WGEHEAE P RERT S ) R 2 MPa

‘ [
FED b o0& T

HI< 728w,
® WAL T 0 ¢ P RAR — k#1120, AMPa { 4 kgf/on®} 1), 1= 15 A
THELIZL TSV {HL, AEB, BDAM, 234 11y MEJJHEEMNF «

v 7T,

-[BGA| —025A—|_vm

S BEFRR
AT IAGCI00 V. D1:DC12V
A2 1AC200 V  D2:DGC24V

FRMIEDIERE 1&%7‘7 - B E R
& REOY EFILF N~
T
e 6 025
Bow O OH E H MPaikef/m®} 21 {210} )
E 1% i B  L/min 20(12) GED \
2 PN it #  L/min(IE3) 40
R#F—- PEFEAEHE MPaikef/em®} 7{70} (2{20}) (k2
B i # B Ial/s 2 PN
A R EREIENT10%

RS 277V — b

SHD025-02T1A
SHDO025-03T1A

SHD025-02T3A

P38 Sypo25-03T3A

HP3MEBIML 2 Ewn,

L )

JIS B1176 M5X45

(7D (
(1#2) (
(#3)

MATRL- (- N
R

@ /L /1 NEH

YR OHEIZ, BDAXAEBOBE& Y
J=RAT) Y FRT Hf/(ZWD)m%/ﬁvc»auc
i IS &) RE 270 PIUOBREREBML T8,

327 EHE
A N SLH3-L3-Al SLH3-L3-A2 A # | SLH3-L3-D1 | SLH3-L3-D2
e s me . | ACI00V | ACI0OV | ACIIOV | AC200V | AC200V | AC220V E M W LE DC12v DC24V
EWOR I g | 6o ke 60H: | 50Hz | 60 He 60 Hz % % A 01 o2
)W A 0.29 0.24 0.265 0.145 0.12 0.135 W W 4.8 4.8
R A 0.19 0.135 0.165 0.095 0.07 0.085

CHBRES W | 6.1 4.1 5.3 6.1 4.1 5.3

13




- |

@ S DIELR

i) AT YT RS J = RSN vy AT YT AT Ry b
B | HD3-[BWosOK]|-025A-LY HD3-[2W (D) 5% %) -025A-LY He3K¢ HD3-[28 508 %] -025A - LY 3¢ 3%
LYWL Al 1B vA B Al |B ’ " Al B
pl R ptuiR pl R | plap - pldip
3W-BCA 3W-BMA 2W-BcA 2S-BeA . 25-BC
AL 1B AL |B AR ‘ A . A8
ETHTIG, | X, s X[ ae(THI | oK
PR prbp Pl bR _ : GED)
3W-BDA 3W-BM1A 2W-BdA ‘  25-BdA . 25-BG
AL |B : ALiB A B ’ Al iB ) :
A pldg plbR pllR plrdig
e 3W-BGA 3W-BNA 2W-BgA 25-BgA
AL 1B AL A @E ALB
b I T I .
plR PLR Pt R pl @R
' 3W-BG1A 3W-BN1A 2WD-BcA 25-KcP
Al 1B
TG
pILR
} 3W-AEB
2 S B2 -
®RAME (B 1 L/min)
il o M7y 7ers AR— 787 B~ k70
) ' ' RIS, :
NP )= AT v I, .
Vi JIMPa thegf/on”} a b AT T T b aEHXiji%n ‘ a?ﬂ@iﬂ%n
RAE— I b kT,
MPatkef/cn} 7 {70} 144140} 21210} 7{70f | 1411400 [ 2142100 | 7 {70i [ 14{140} | 21{210}
B 0 o [ 7o o [ 70 0 0
BCA 40 40 40
BDA 30 25 30 15 10 30 20 15
| AEB 30 20 12 30 15 12 30 25 15
BGA
3W BGIA
BMA
40 40 40
BM1A
BNA
BN1A
| BcA
2 BdA 40
2w ' 40 40
BgA
2WD BcA 40 [ —] w0 [ _—
BeA 40 EEED
BdA 40 40 20 | 15
BgA 40
28 40
| KcP 40 20 [ 15
BC '
40 40
| BG
T BT R MBI X0 B 2T,
® £ HR%E T 0257
2
®
1.6 / ‘
E ’ /@ o EHETHEOHS (B5RE © 33mm® /s {eSth)
2., pd il 3w 2 W [2wD 2 s
X / A @ ©) N
E T T #n\|BCA|BDA|AEB|BGA|BG1A|BMA| BMIA| BNA|BNIA| BcA|BdA|BgA|BeA |BeA|BAAtBgA|KeP
2w P~Al@ |0 |®|0|0 0| ®|0|0]|0|0|® @] 6|0
= ; A
o B P~B@®|®|®|I@|0|® 0 000 ® 0| e|d
' T —rRl@ 0| @0 00|00 eeoo|e] e
1 ] R © 0| ®| 0|20 0|0 o0 0 0]|/ee]e
# R L/min P—R ® | ®

114



|~

@ SHE~HER

O HD3-3%W (D) —3% 3% 3% -025A-L Y A X
1
REEBA 0(PF)1/2 ] [
w0
1 BN ; s
T 1L raEn 5 T £ i N 1 = ] i
) I O O DS s 0 ~{_ I
‘ TTANYZ NG BT ‘ N
=y % {1 X - ; ; ”
1k g H- | -
SO e,
127 |
1.5 | 4-JIS B2401-1AP9 QY > %
. 30.2 0O-RING
32 40.5
107

©® HD3-2S-3% 3% % ~025A-L Y A %

, YL/ EMBTE 264 . ) 192 Z
i 204 1 L 161.5 {
w :
fwin | ch ‘ . ; : ‘j
S T [ r‘b r-b' ( !
T T = = T T o= \ d
soLa® —{— ! —{t—  soLb SOL a —q— [J . ‘
t - A 3
| g s ’ H
|

, LJ[ | u |
15.5 ‘
7 . !

B B 22k : a 8 2kg

: ® HD3-3%W (D) -3% % % -025A~-L YD ¥ (S)

RERBA G(PF)1/2

] . & | |
] ix — ‘S, . h -—n~,_.,, L ; ‘
-+ if:x{ B | R L P ( ?
O e |1 R L " ; !
] S S R ey B | ;
am J
4-JIS BZ40““AP9 oy ‘ \i
0-RING : ;
! |
® HD3-2S -3 ¥ % -025A~-L.YD |
p YL/ { MBI 284 } UL/ A KRB £ 2015
m 214 1 J 166.5 i
o 9
[ 1 i fam ! fmn
= i . | o
soLa  —{—. : 1 B B | U soLa l : "}_
SRR o A 8 I R o W 1 Y NS
f L =711 . — 1=
! ‘ } ' ( '””""| ) i s \ : |
L T e s e e e e
= EEE) = | i [ ]
I S |
. 7 ‘15‘5 2 . ’

NN NFIed

115



2

PRESENT MODEL.

SOLENOID VALVE (HD*-WY*) SIZE 025/ 03

FEATURES

HD3 Series (for 25 MPa)
- 1. Compact
2. High pressure and large capacity
3. Increased rated flow rate
4. Increased permissible back pressure
5. Dust- and water-proof to IEC IP85
6. Lamp and grounding terminal are standard.
7. Surge killer is standard.

HD1 Series (for 7 MPa)

1. Directly controllable by a programmable controller since the valve operates
at low power. (Refer to the solenoid characteristics)

ACautions on Use

Please read the Instruction Manual carefully to ensure correct usage.

® The piping must be arranged so that the R port is always filled with ® Using a valve with the R port plugged can cause operation failure.
fluid to make the most of the features of the oil-immersed type ® For valves with detent, to hold the spool position without supplying

valve. power to the solenoid the back pressure must be 5 MPa or lower
e When installing a no-spring type valve, install it so as to set the for the HD3 series or 2 MPa or lower for the HD1 series.
spool horizontally. :

~ Finish the mounting faces to the same quality as the valve faces
(3.2 umRz).

MODEL DESIGNATION
HD*(S)-*-*-*B-WY * (%

~ Max. operating pressure (NOTE 1) ————T T—Option functions
. 1: 10 (MPa) . M12 4-pin connector type (only for HD 1(S)-WYD2 type)
3. 25 (MPa) A: Load side -COMMON right side '
© 35 (MPa) B: Load side ~COMMON left side
Mounting bolt (NOTE 2) . C: Load side +COMMON right side
No code: Size 025 M5 bolt (standard) D: Load side +COMMON left side
No code: Size:03 M8 bolt (standard) . Quick return function (NOTE 3) (only for HD*-WYR?*)
S: M6 bolt for Size 03:: (option) H: Quick return
Switching function With built-in diode (only for HD*-WYD2)
3W:  Spring center type ) . 8: Load side -COMMON
2WD: No spring detent type T: Load side +COMMON
28;2R Spring offset type L——————Voltage indication
Spool type D2: 24 VvDC
Refer to the SPOOL TYPES table. R1: 100 VAC
Nominal size R2: 200VAC R3://0 VAC R4:220VAC
025: Conforming to 1S04401-03-02-0-94 —————Wiring method )
. 03: Conforming to 1IS04401-05-04-0-94 (M6 bolt) . WY: Cable connection to the side of the terminal box
Design code | R: TERMINAL B0X TYPE - . .

CI ML Y-PIN CONNECTOR TYPE .

NOTE 1: A solenoid valve of 35 MPa operating pressure is available only for the 025B series.
NOTE 2: Model with “S” designation is availgble only for the 03B series.
NOTE 3: The valve with quick return function provides faster response for switching to OFF.

SERIES SELECTION TABLE

Power Source Low Compatibili
. i ; patibility to

Series e o Voltage Surge Absorber M12 4-pin Connector Quick Return DeviceNet
g HD1(S)-WYD* @) o CR + Varistor
Z HD1(S)-WYD* (A to D) '8 e) Diode e} 0O
§, HD1(S)-WYD* (S or T) e) e Diode O
[0
g HD1(S)-WYR* 0 O Rectifier ' .
3 | HD1(S)WYR™H o 0O Rectifier ' o
& |HD3/HD5(S)-WYD* ®) CR + Varistor
>
=
o |HD3/HD5(S)}-WYD* i
ERICERD o | Diode O (NOTE)
73
g HD3 / HD5(S)}-WYD* 0O Rectifier
ey .
2 | HD3 / HD5(S)-WYD*H @) Rectifier @)

NOTE: Select the slave unit carefully since the solenoid current value is high.

92

1



VALVE SPECIFICATIONS

Size Size 025 Size 03
Series HD1 HD3 HD5 HD1 HD3
Max. operating pressure (MPa) 10 25 35 10 25
Max. flow (NOTE 1) (L/min) 40 80 80 60 120
zf;”gzﬂ?ﬁgﬁékzﬁ”esswe (MPa) 10(2) 16(5) 16(5) 10(2) 16(5)
Switching frequency (CYCLE/s) 2 or lower
Permissible voltage variation range Rated voltage +10% V
Protection structure class IEC529 IP65
Operating fluid (recommendation) 1ISO VG22, 32, 46
Viscosity (mm?fs) 15 to 400
Fluid temperature (°C) Oto 65
Ambient temperature (°C) -10to 50
Tightening torque (N-m) 6to8 8to9 mg 12 :g :1]2
Mass (kg) 3W,2WD: 2.5 28: 138, 3W,2WD: 4.8 2S: 35
NOTE 1: For details, refer to the operation limit. '
NOTE 2: Values in parentheses are for the detent type.
"SOLENOID SPECIFICATIONS
® HD1 Series
Valve Size Size 025 Size 03
Solenoid model SLH1-025B-D2 SLH1-025B-R1 SLH1-025B-R2 SLH1-03B-D2 SLH1-03B-R1 SLH1-03B-R2
Rated voltage 24VDC 100 VAC 200 VAC 24 VDC 100 VAC 200 VAC
Frequency — 50/60 Hz 50/60 Hz — 50/60 Hz 50/60 Hz
Holding current 0.2A 0.07 A 0.05 A 0.2A 0.06 A 0.03 A
Power consumption 4.8 W 6.5W 81w 4.8W 58W 6.6 W
Voltage variation range +10% V
e HD3 / HD5 Series
Valve ‘Svize Size 025 Size 03
Solenoid model SLH5-0258-D2 SLH5-025B-R1 SLH5-025B-R2 SLH5-03B-D2 SLH5-03B-R1 SLH5-03B-R2
Rated voltage 24 VDC 100 VAC 200 VAC 24 VDC 100 VAC - 200 VAC
Frequency — 50/60 Hz 50/60 Hz — 50/60 Hz 50/60 Hz
Holding current 12A 0.35A 0.19A 1.6A 0.46 A 0.25A
Power consumption 29w MW 33W 36W 40 W 44 W
Voltage variation range +10% V
SPOOL TYPES
Type Spring Center No Spring Detent Spring Offset
Model HD*-3W-*-*B-WY* HD*-2WD-*-*B-WY* HD*-28-**B-WY*
AB
3W-BCA agmgﬂgb 2WD-BcA aEX]g: iﬁ b 2S-BcA aaﬂﬁﬁ}m
AB AB
3W-BDA amh 2S-KcP ST
$paot Type o Eﬂn@“
AB
3WBGA EEX]EE@.,
PT
: AB
3W-AEB (NOTE) amb
PT

NOTE 1: Spool type 3W-AEB is available only for the HD3 and HDS series.
NOTE 2:- For spool types not shown above, please consult us.

93



WIRING METHODS

When attaching a lid after connecting cables, be sure to attach it correctly.

Terminal Box Terminal Box
Power terminal [SOL a] (M3) [TOP]
Power terminal [SOL b} (M3)
Lamp [Sﬁ Lamp [SOL b}
7 O; & & &
% (Yo} ‘g ———
2 @) O] > R2 R1
k) = SOL
o 6}
@ | sola = solb 8 e 2 -
= = [a) Ci
a O ele) @) E L T
© o *
Short-circuit jumper
Grounding terminél (M3) Power common terminals (M3) [BOTTOM]
Power terminal [SOL a] (M3) [TOP]
)
Lamp [SOL 2] &
l_
3
e ®
2 Q @) 3
1o 8
sol a %
0 O O 3
<
=
Grounding terminal (M3) Power common terminals (M3) [BOTTOM]

M12 4-pin Connector Pin Configuration

1. 24

vDC

2: SOLb
3: 0V
4. SOL a

Connector Wiring Drawing

When connecting a device: Load side -COM

When connecting a device: Load side +COM

N WV
Output unit
COM n—-
| ”___<|{5 5:%*
i SOL |
. H————<® |
L

Y
Output unit
COM -
| IF——«:@— soL 6§»~
i@l

98




EXTERNAL DIMENSIONS

e SIZE 025 SERIES

O-RING 4-JIS B2401-1B P9
SPRING CENTERED TYPE MANUAL OPERATION HOLE
DETENT TYPE POWER PILOT LAMP
o 1 & — o
= & i :E ) =
i, - N7
e
12.7 25
121.9) 73
30.2 92
125 40.5 '
. 8 2 SPRING OFFSET TYPE
CLEARANCE REQUIRED TO REMOVE SOLENOID CLEARANCE REQUIRED TO REMOVE SOLENOID
381 237
2444 169
5 9.7 .(15) /o5, 93 ‘ (1(5)
Mi12 4-PIN
4—¢9 (M12 4-PIN 4—49
H "i‘t CONNECTOR) “ ¢ CONNECTOR)
= I 1 Y - T
[
SOLa W I’ sOLb . . SOLa T T
,r— _-l ;.x 1 R - 1 ~! ,[ _4[ 1 el
= I = - - I
r ﬁI L | {AED L |J: BERE xl 4 | [EEE); |
1l a—¢55 4—¢55
o SIZE 03 SERIES
e /2 VAL
SPRING CEA//:;S;@E!} TY?E O-RING 4-JIS B2401-1B P12
DETEMT TYFE
FOWER PILOT LAMP MANUAL OPERATION HOLE 30 zg
” T %
= > X ¥
] = T [ —1 i*“\*j—_
il IREE o)
RS EE o)
_ I o N\
32 37
16.7 89
27 { 108.5
37.3 ( ): Indicates the size of HD3S (M#6).
50.8
14 54
95 82 95
SPRING OFESET TYPE
CLEARANCE REQUIRED TO REMOVE SOLENOID CLEARANCE REQUIRED TO REMOVE SOLENOID
272 190.5
(WHEN M12 4-PIN o4 A (WHEN M12 4-PIN % 3,
CONNECTOR IS CONNECTOR IS
USED) USED)
I l| [I 1 “ . T || ‘g T
— 1r S L
e [ 7 EEE§ — 11 rJ
hi= ] = T A
A b -+ ]
—H S, E=hH
— (7APBT) Ef':ji

99




MOUNTING BOLTS

Mounting bolts are not supplied with valves and should be ordered separately.

Since the mounting bolt seat height of new type valves differs from that of conventional valves, please order the adjusting collars or mounting
bolts for a new type valve when replacing a valve in a circuit where stack valves are used.

For the 03B series with M6 type mounting bolts, please order the mounting bolts for a new type valve.

NEW MIDEL OLD_MODEL
’ COLLAR.
= e )
2P ”’/ |[FOR REPLACING CONVENTIONAL VALVE
) 7 Collar Model
Unit: mm v 025: HH-00200 (4 bolts)
L 03:  HH-00271 (4 bolts
D o Series X L \ ¢ )
l 0258 | 8 |, 22
l_u x 038 | 10 | 30 Hl
025B Series Mounting Bolts for the HY-TEGRA System
® Hexagon socket head bolt e Stud bolt
No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M5 x 30 1 —
HKS-NA-5 x 65 HKS-NC-5 x 71

HKS-NA-5 x 100

HKS-NC-5 x 106

HKS-NA-5 x 135

HKS-NC-5 x 141

2
3
4
5

HKS-NA-5 x 170

2
3
4
5

HKS-NC-5 x 176

03B Series Mounting Bolts for the HY-TEGRA System
® M6 hexagon socket head boit

® M6 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M6 x 40 1 .
HKS-NA-6 x 95 HKS-NC-6 x 106

HKS-NA-6 x 150

HKS-NC-6 x 161

HKS-NA-6 x 205

HKS-NC-6 x 216

aldhjw]N

HKS-NA-6 x 260

2
3
4
5

HKS-NC-6 x 271

® M8 hexagon socket head bolt

® M8 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M8 x 40 1 —
2 HKS-NA-8 x 95 2 HKS-NC-8 x 106
3 HKS-NA-8 x 150 3 HKS-NC-8 x 161
4 HKS-NA-8 x 205 4 HKS-NC-8 x 216
5 HKS-NA-8 x 260 5 HKS-NC-8 x 271

NOTE 1: Use mounting boits of the strength cétegory class 12.9.

NOTE 2: Stud bolts are supplied with nuts.
NOTE 3: If an M6 type solenoid valve is used for the 03B series, also use an M6 type (H*3HS) HY-TEGRA valve.

COMPATIBILITY WITH STANDARDS

e CE

All types of valves in the catalogs conform to “CE marking” directives.
Directive: 73/23EEC, 93/68/EEC Low Voltage Directive (VDE 0580:200)

e UL

Please consult us.

e CCC

Not compatible as of April of 2004.

101



